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2. The number of decimal places aftcr which the decimal
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expansion of the rational number 2% 253

will terminate is:
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. 8. The angle of depression of an object from the top offa tm::é
of height 75m is 30°. Then the distance of the object from 1
foot of the tower 1s :
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9. The area of the circle that can be inscribed in a square of sidclz |
1 3
6cm 1s :
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10. The volume and surface area of a sphere are equal. Diameter
of the sphere is : 1
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(b) 6 units (93F)

fc) 2 units (95F)

(d) 4 units (95F)

11. Mean or average of 1, 2, 3, 4, .... n'is - 1

1, 2, 3, 4, ... n3 94 A T T

1,2, 3,4, .... n3 g I 7S A ,\.fl
| n%l
(@ —
b n-1
(b).i==
4
€
n
—_ 1,
@d S+

B17-GM (EN/AS/BN) [7] Contd.




“12. Which one of the following is the probability of an veH
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14. Find the number of terms of the following Arithmetic
| ; 2
progressions :
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15. Find the ratio in which the y-axis divides the line segment
Joining the points (7,3) and (-4.5). Also find the coordinates
of the point of intersection. 2
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17. Prove that : ( smo 1- Sma-Zsece . | 2
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18. Evaluate sin30° + tan45°’ -cosec60” - | 2
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19. A die is thro o9 d the probabthty‘of gettmg 2
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(i) a prime numbor 13-
fii) a number lymg between 2 and 6.
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SECTION-C

Find the zeros of the following quadratic polynomial and verify
the relationship between the zeros and the coefficients. 3
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Draw the graphs of the equations 5x-y=5 and 3x-y=3
and solve the equation with the help of graphs. 3
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Find the roots of the following quadratic equation : 3
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2x2-—7x+3=0

The sum of the reciprocals of Kuwali’s age (in years) 3 years

ago and S years from now is 3 Find her present age. 3
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The sum of first 20 terms of an AP is 400 and that of 40 terms

is 1600. Find the sum of first 10 terms and that of n terms.
3
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Find the area of the triangle formed by joining the mid-points
of the sides of the triangle whose vertices are (4,2), (-=2,0)

and (2, 6). 3
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A chord of a circle of radius lscm subtends an angle of gg°

at the centre. Find the area&\pgthe corresponding minor and
major segments of the cxrcls&l use 7=3-14 and V3 =1.73]
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SECTION-D

28. Solve the following pair of equations by reducing them to a
pair of linear equations. 4
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2 women and 5 men can together finish a work in 4 days,
while 3 women and 6 men can finish it in 3 days. Find the
time taken by 1 woman alone to finish the work, and also that

taken by 1 man alone. 4
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similar triangles is

29. Prove that, the ratio of the areas of two

equal to the square of the ratio of their
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f Altitudes AD and CE of AABC intersect each other
" point P. Show that o

| () AAEP ~ ACDP (i) AABD ~ ACBE

' (iii) AAEP ~ AADB (iv) APDC.-.ABEC
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~ 31. Prove that the lengths of tangents drawn from an
point to a circle are equal, 4
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A circle is inscribed in a AABC

sides 8cm, 10cm
2 Find AD, BE and CF.
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32. Construct an isosceles triangle whose base is 8 cm and altitude

4cm and then another triangle whose sides are 14 times the
corresponding sides of the isosceles triangle. Mention the St€ps

| of construction. - 4
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SECTION-E »

33. A farmer connects a pipe of internal diameter 20cm from a
canal into a cylindrical tank in his field, which is 10m in
diameter and 2m deep. If water flows through the pipe at the
rate of 3km/h, in how much time will the tank be filled.
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From a solid cylinder whose height is 2-4cm and diameter
1-4em , a conical cavity of the same height and same diameter

is hollowed out. Find the total surface area of the remaining
solid to the nearest cm?. '
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34, Draw an ogive and the cumulatiye- freque
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